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1A L EIDABZERIE=220kPa+ ( R HRFFDSKUE-—5.8E) X 1.1kPa
A B C D E F G H I P
BE | By |RoEE |asmy| sk [tassE ss2| 1B |fEee| sanE| =25E | #Ee
0 0.20% -5.8 0 0 0 220.0 0
0 0.20% =71 (1.3) 15 =20 -0.5 2176 -11
0 0.20% -3.7 3.4 1.5 51 -0.5 222.2 1.0
0 0.20% -2.9 3.8 1.5 15 11.3 -0.5 232.9 59
5H 12.7 0 0.20% —6.1 10.5 6.7 1.5 10.1 -0.5 239.6 8.9
6H 17.5 0 0.20% -8.5 16.3 5.8 1.5 8.7 -0.5 241.7 9.9
7H 215 0 0.20% -10.3 20.2 3.9 15 5.9 -0.5 238.6 8.4
8H 221 0 0.20% -10.3 23.1 29 15 44 -0.5 232.2 55
9H 16.6 0 0.20% =71 18.9 (4.2) 15 -6.3 -05 2151 -2.2
10A 9.8 0 0.20% -3.9 12.0 (6.9) 1.5 -104 -0.5 197.1] -104
118 3.0 0 0.20% -1.1 53 (6.7) 1.5 -10.1 -0.5 182.7] -17.0
128 0 0.20% -1.1 (6.4) 1.5 -9.6 -0.5 171.5] -22.0
18 0 0.20% -58 4.7 1.5 =71 -0.5 163.9] —-255
&F 1.7 -50.1 -22.8% 0 -6.0 -56.1
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A B C D E F G H I P
BR | AEy | mosE sy ank [tassE s52| 1B |z arR| =5E | #H%
0 0.20% -5.8 0 0 0 220.0 0
0 0.20% =71 (1.3) 1.1 -14 -0.5 2181 -0.9
0 0.20% =3.7 34 1.1 3.7 -0.5 2213 06
0 0.20% -2.8 3.8 715 1.1 8.3 -0.5 2291 41
5H 12.7 0 0.20% -5.9 10.5 6.7 1.1 7.4 -05 233.1 5.9
64 17.5 0 0.20% -8.2 16.3 5.8 1.1 6.4 -0.5 233.0] 5.9
7R 21.5 0 0.20% -9.8 20.2 3.9 1.1 4.3 -0.5 22871 3.9
8H 221 0 0.20% -9.8 23.1 29 1.1 3.2 -0.5 2215 0.7
9A 16.6 0 0.20% -6.9 18.9 (4.2) 1.1 -46 -0.5 206.6) -6.1
10A 0 0.20% -3.8 12.0 (6.9) 1.1 -7.6 -0.5 191.7] -12.9
118 0 0.20% -1.1 53 (6.7) 1.1 -7.4 -05 180.1] —18.2
12H 0 -1.1 (6.4) 1.1 -7.0 -0.5 1714 -221
1A 0 -5.8 4.7) 1.1 -5.2 -0.5 165.8] —24.7
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RZR1EIZKDR/N : -0.5kPa B BHEE=1.0kPa

17ADBERBN=-5E1°CTO. 20%TEtEL-EE
BARRNEOEE=5COEE

EENDERKRRETZEALZER) X1E=#1 5kPaTEHEL-BE
1A L EIDABZERIE=220kPa+ ( R HRFFDSKUE-—5.8E) X 1.1kPa
A B C D E F G H I P
BA | BEY [RoEE |BAGRYK B4R | LA5E| K82 | 1B |S222| akE| Z5E | #H%
5 0.20% -5.8 0 0 0 220.0 0
5 =71 (1.3) 15 -2.0 -0.5 2176 -11
5 0.20% -3.7 34 1.5 5.1 -0.5 222.2 1.0
5 0.20% -0.6 3.8 1.5 15 11.3 -0.5 232.9 59
5H 12.7 5 0.20% -3.7 10.5 6.7 1.5 10.1 -0.5 2419 100
6H 17.5 5 0.20% —6.2 16.3 5.8 1.5 8.7 -0.5 2464 120
7H 215 5 0.20% -8.1 20.2 3.9 15 59 -0.5 2456 11.6
8H 221 5 0.20% -8.3 23.1 29 15 44 -0.5 241.3 9.7
9H 16.6 5 0.20% -52 18.9 (4.2) 15 -6.3 -05 226.3 28
10A 5 0.20% -2.0 12.0 (6.9) 1.5 -104 -0.5 2102 -45
118 5 5.3 (6.7) 1.5 -10.1 -0.5 197.6] -10.2
128 5 -1.1 (6.4) 1.5 -9.6 -0.5 187.5] -14.8
18 5 -58 4.7) 1.5 =71 -0.5 179.9| -18.2
&F -15.5% 0 -6.0 -40.1

300.0

250.0

200.0

150.0

100.0

50.0

00 T T T T T T T T T T T T 1




NEJI I7—RSA¥— (&L= ZER)

XBESADIBE=RAILS Y ILILDEE (A x (hHE) /38 E=—%
17 BDBARN-KIE1°CTO. 2% THELEE
BARNEOEE=5COIGE
I7—b547—ERERLEZER) X1E=#1 1kPaTEHEL-EE
1A ELEIDRAEERIE=220kPa+ (RIREFEDKRE—58%F) X 1.1kPa
A B C D E F G H I P
BE | BEY | ROERE |BARY| 54R | LOSE| S8 | 1B |SE22| anRE| Z5E | #H%
5 0.20% -5.8 0 0 0 220.0 0
5 0.20% =71 (1.3) 11 -14 -0.5 2181 —-0.9
5 0.20% -3.7 34 11 3.7 -05 221.3 0.6
5 0.20% -0.5 3.8 1.5 1.1 8.3 -0.5 229.1 41
5H 12.7 5 0.20% -3.6 10.5 6.7 1.1 74 -0.5 2354 7.0
6H 17.5 5 0.20% -5.9 16.3 5.8 1.1 6.4 -0.5 237.6 8.0
7H 215 5 0.20% -7.8 20.2 3.9 1.1 4.3 -0.5 2355 7.0
8H 221 5 0.20% =79 23.1 29 11 3.2 -0.5 2304 47
9H 16.6 5 0.20% -5.0 18.9 (4.2) 11 -4.6 -05 21741 -1.2
10A 5 0.20% -2.0 12.0 (6.9) 1.1 =76 -05 204.3| -7.2
118 5 5.3 (6.7) 1.1 =14 -0.5 1944 -11.6
128 5 -1.1 (6.4) 1.1 -7.0 -0.5 186.9| —-15.0
18 5 -58 4.7) 1.1 -5.2 -0.5 181.2| -17.6
=3 ~14.9% of -60] -388
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BB | BEY | ROERE | AAKRY

0 0.20%

0 0.20%

0 0.20%

0 0.20% 2.5 26 2.7 29 3.0 3.1 3.2 3.3 3.5 3.6 3.7
5H 12.7 0 0.20% 5.1 5.3 5.6 58 6.1 6.4 6.6 6.9 71 7.4 7.6
68 175 0 0.20% 7.0 7.4 1.7 8.1 84 8.8 9.1 95 9.8 10.2] 105
7H 21.5 0 0.20% 8.6 9.0 95 99 10.3| 108 112 11.6] 120| 125 129
8H 22.1 0 0.20% 8.8 9.3 9.7 102 106 11.1| 115 119 124 128] 13.3
9R 16.6 0 0.20% 6.6 7.0 7.3 7.6 8.0 8.3 8.6 9.0 9.3 96 10.0
10A 98 0 0.20%
118 3.0 0 0.20%
128 0 0.20%
=3 1.7 -43.8] —45.9| —-48.1 —-50.3| -52.5| -54.7| -56.9| -59.1] —-61.3| —63.5| —65.6
15ADBRBN-RBE1°CTO. 20%TitE

BARNEOEE=5COIHFE

AB | A¥Y |RORE

5

5

5

5 0.20%f 05| 05/ 05 06| 06 06 06/ 06/ 07| 0.7 0.7
5A 12.7 5 0.20%| 3.1 32| 34| 35 37 39| 40| 42| 43| 45 46
6H 17.5 5 0.20%| 50| 5.3 5.5 5.8 6.0 6.3 6.5 6.8 7.0 7.3 1.5
;) 215 5 0.20%| 6.6 6.9 7.3 7.6 7.9 83| 86 8.9 9.2 9.6 9.9
8AH 22.1 5 0.20% 6.8 7.2 7.5 79| 82 86/ 89 9.2 9.6 99| 103
9R 16.6 5 0.20%| 46| 4.9 5.1 5.3 5.6 5.8 6.0 6.3 6.5 6.7 7.0
10AH 9.8 5 0.20% 1.9 201 21 22| 23 24| 25 26| 27 28| 29

5

5

-35.7| -37.1
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BN=-581°CTO. 18% Tit&E
BARRNEOEE=0COFE

RORE |BAREY
0| 0.18%
0| 0.18%
0| 0.18%
0] 018% 22| 23] 25| 26| 27 28 29/ 30 31| 32 33
5H 12.7 o/ o018% 46| 48[ 50| 53 55 57 59/ 62 64 66 69
68 175 o/ o018% 63| 66| 69| 72 76| 79/ 82 85 88 91 95
718 215 o/ o018% 77| 81 85| 89 93] 97 101 104 108 112 116
8H 22.1 o] 018% 80| 84| 88| 91| 95 99 103[ 107[ 11.1| 115 11.9
9RH 16.6 0| 0.18%
108 9.8 0| 0.18%
1A 3.0 0| 0.18%
128 0| 0.18%
F 7.7 -43.3
17 ADBEARFN-KE1°CTO. 22% THE

BARNEOEE=5COIHFE

AB | A¥

ROmE

BRFRE

0.22%

0.22%

0.22%

5

5

5 0.22%

5 0.22%( 0.5 0.6 0.6 0.6 0.6 0.7 0.7 0.7 0.7 0.8 0.8
5H 12.7 5 0.22% 34 3.6 3.7 3.9 4.1 42 44 46 4.7 4.9 5.1
6H 17.5 5 0.22% 5.5 5.8 6.1 6.3 6.6 6.9 7.2 14 1.7 80| 83
18 21.5 5 0.22% 7.3 1.6 8.0 8.3 8.7 9.1 9.4 98| 102 10.5] 109
8AH 22.1 5 0.22% 1.5 79 8.3 8.7 9.0 9.4 98| 102 105] 109 113
9H 16.6 5 0.22%| 5.1 54| 56 59 6.1 6.4 6.6 6.9 71 14 1.7
10AH 9.8 5 0.22% 2.1 2.2 23 24| 25 2.6 2.7 29 3.0 3.1 3.2

5

5

0.22%

-31.4| -33.0| -34.6| -36.1| —37.7| —39.3| —40.8 —-45.6| -47.1




